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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 
December, 2015 

ELECTIVE COURSE : COMMERCE 

ECO-7 : ELEMENTS OF STATISTICS 

Time : 2 hours 	 Maximum Marks : 50 
Weightage : 70% 

Note : (i) Attempt any four questions. 
(ii) All questions carry equal marks. 

1. 	(a) Fill in the blanks with a suitable word as 
given in the bracket. 	 8, 41/2  

(i) 	  sampling method 
involves grouping the population into 
heterogeneous groups. 
(cluster/ stratified) 

(ii) The errors caused by drawing 
inference about the population on the 
basis of samples are termed as 
	 errors. 
(sampling/non-sampling) 

(iii) Construction of classes as 0-9, 10-19, 
20-29 etc., refers to 	  
method of frequency distribution. 
(inclusive/exclusive) 

(iv) 	sampling is the probability 
sampling method. 
(Quota/Area) 
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(v) ratio is defined as the 
ratio of a part to a total which includes 
that part also. 
(Interpart/ Distribution) 

(vi) An ogive helps in locating the value 
of 	 
(mode/median) 

(vii) For a moderately skewed distribution, 
the empirical relation is given as 
M0  = 	 

(2Me -35Z /3M e -2R) 

Q3 Q1  
(viii) Q3 

 + Qi  is 	the 	formula 	of 

	 deviation. 
(Quartile/Coefficient of Quartile) 

(b) Distinguish between descriptive and 
inferential statistics. 

2. Explain the functions of statistics and enumerate 
the limitations of statistics. 	 61/2, 6 

3. (a) From the following data calculate the 
mean : 	 8, 41/2 

Class 0-10 10-20 20-30 30-40 40-50 50-60 
Frequency 2 6 9 7 4 2 

(b) Draw a complex table by considering the 
attributes of sex and marital status of 
students in a college during 2010-11 to 
2013-14 with hypothetical figures. 
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4. 	Using Bowley's method calculate coefficient of 
skewness from the following data : 	 121/2 

Class 0-10 10-20 20-30 30-40 40-50 50-60 

Frequency 12 18 20 15 13 3 

5. (a) Draw a pie diagram to represent the 
following data : 	 8, 41/2 
Items 	 Expenditure(Z) 
Food 	 2,000 
Clothing 	 500 
Rent 	 1,000 
Other expenses 	300 

(b) If L 1 = 200; c = 550; f = 555; i =100; 
N =1,210; find out the median. 

6. (a) What is the procedure involved in 
determination of mode graphically ? 	6, 61/2 

(b) What are the precautions to be taken while 
using the secondary data ? Discuss. 

7. (a) From the following data, calculate standard 
deviation : 	 8, 41/2 

Marks 10-20 20-30 30-40 40-50 50-60 60-70 

No. of 
students 

10 18 32 40 22 18 

(b) Distinguish between ratios and rates. 
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1. 	(a) *R3-*Illf- 7 vr--  4 74 3q74 qicq RT tetcr 

TP-ITtl:Lf4f-A71 	 8, 41/2 

(i) 	  ri 	faN 	u1-1a 
Trrrftz 	f"477t7 (heterogeneous)11 1:ffi 

3-7-4f-eff -ft*-4T ztfrif F-4d t I 

( 11- / 7RTFTd) 

(ii) 7r7Te 3TRTR 	g 

'Fagg dt-LN 	 favg 
a.)1 Z1 	 t 
(3rfffTeffR 

(iii) 0-9, 10-19, 20-29 3Tifq 	T7 14 cm' t 
ffftftal 74 3774 .t 31T-Ift-T 	Te1 

	 fa 	f 37179T I 

(w-1l 	d4/31.7a-A) 
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(iv) 	-crW141-7147 MiCIT.111 

fqrti t I 

( ch)dr/ 

(v) f-*7:ft tIrkl 	 WTI .0 

#1171 aki 	arliTru 

	 3171-d ct 	 t I 

(vi) vcn 3TT t R 	 (ogive) 	 

figiTur 	taT t 

(ifzrawilTrFarwr) 
(vii) -RT TrizTrtardzET 4qcf tqlzr f477 11* 

3ThliTifdT (empirical) 1:149 . f .kgfPq1 \Midi 

t Mo  

(2Me  —35Z /3M e -2X) 

Q3 Q1  
(viii) Q3  + Q1  

T I 

(wIttT/Qtw Ilurfw) 
(b) 	acituilmcb 72TI 	 tiiRsqcb 

7-drfR I 

2. kit (seo, 	 0q1(91-41 Tlf-A7 'ffRif till a4ch I 
41411Hr3t 	-.1r--47 	 61/2, 6 

3. (a) 	-1.1 c-1 tqc1 31"1-*1* 311%7 	141t7 (mean) 

I 	U N Tr47 : 	 8, 41/2 

Ali 0-10 10-20 20-30 30-40 40-50 50-60 

aTreA.  2 6 9 7 4 2 
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(b) 	 Tlf- cl 2010-11 # 
2013-14 t 	ict) 4-11rcN.11(1q 	tdEfTf2teff 

rc'l I 	1.  tqrr-TT 	 f, rdo 
(complex) Tr—d-W-T NTT -Wt.-A.71 

4. F1 4--IrciP_gct 3.3fT* 	3TRir{ -aurzi'm 
7 ttscizt ijurfT.  (co-efficient of skewness) -W1-  

121/2 

T1 0-10 10-20 20-30 30-40 40-50 50-60 

arrif9.  12 18 20 15 13 3 

5. (a) 	Pi 4-1 ro 	cf 3T1 -*11 -Wr Tfa-F7N--  4),k4 
74171 3-11:  (pie diagram) ITITT "TrE47 : 

WTI ( ) 

2,000 

500 

1,000 

3-T4 o'-iq 	 300 

(b) 	Trf.  L i  =200; c = 550; f =555; i = 100;2.1.-f 
N = 1,210; 14-07-4-Wf (median) q1Ict7r-471 	8, 41/2 

6. (a) 'fl-17W (mode) sk3 	rig17IT 	faN 
t?  	 6, 61/2 

(b) f ry 31t*-It TP:nTT 	(CT 7:11:17 qzfr tiicitTTF9T11 
	 fake 	 
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7. 	(a) F14-ircirtvi 31t*- 	37W TR 

(standard deviation) 	 : 

(marks) 
10-20 20-30 30-40 40-50 50-60 60-70 

fdtifit 
10 18 32 .40 22 18 

'et JAstif : 

(b) arffM (ratios) -91T1 Tti (rates) 14 1̀1. -4f77 I 8, 41/2 
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